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Code-A
Question .
No. Questions _
1. | If cash reserve ratio is increased by RBI, it will lead to

(1) decrease in money supply

(2) increase in money supply

(3) inflation &

(4) none of these )

3¢ RBI 2T 1% §e9 S1qura 9eT fRar s 2, @ a2 & smon
V) o A A (@) T one X o A aiv
(3) e &K ' 4) T A F5 T H AR

If currently one British Pound exchanges for Rs. 80, appreciation of rupee
will imply

(1) One British Pound will be available for less than Rs. 80.

(2) One British Pound will be available for more than Rs. 80.

(3) Studying in Britain will become costlier for Indians.

(4) None of these.

R g o Bfes qovs 1 ffem 805, & & §, 51 # gergfs @ e @
(1) o fofey usve 80%. & o9 § Iuasy any

(2) % fafes usvs 80 5. | oiftep 7 IueEy g

(3) 9t & for Bew # wel wEd & S

@) T & P T &

f. T

Progressive tax policy implies greater reliance on
(1) Excise tak . s (2) Indirect taxes
(8) Iticometax " (4) None of these
sFIRlier X Aty P T gega o B 4P e ¥
(1) = &% @ o W

(3) IR (4) ¥ § 2 T
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Quﬁs;:}on Questions
4. | Say’s Law implies . |
' (1) demand creates its own supply
_ (2) supply createsr.its own demand
(3) both of the above
(4) none of these |
& @ Frow P e @ ,
(1) #T gE SR @ a2
() oyt T AT @ e R
(3) Sl
| @ w3 a?ts‘ T
5. . Increase in usage of credit cards will lead to demand for money
1) Increasmg (2) No eﬂ'ect
(3) Decreasing (4) None of these |
B o & oW B gfE g B R AT A 4 ok & omem
1 g= : (2) eI
(3 FH : (4) T & 2
Ifan agribultural farm has work for .only'4.pérsons .and five members of a

family work on this farm, it is a case of
(1) disguised unemployment 2 open unemployment

(3) full employment _ (4) over employment
7t o w & T A 4 AR $ R F ¥ a g o o Rl oReR @ o

(1) g & RN #= Q) G AT W
8) T I A (4)aaﬁ‘rﬁmﬂaﬁr

PG—EE-—2013 (Economics) Code-A
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Question

Questions

If rate of growth of country ‘A’ is 7.4% and for country ‘B’, it is 7.2%, then it
can be concluded that

(1) Country ‘A’ is developing faster

(2) Country ‘A’ is growing faster

(3) Both of the above
(4) None of the above

3 3T A’ gha B W 7.4% T 39 B’ 3 R 9 7.2% ¥ 9 98 qRomy e
ST g [

(1) 3 ‘A’ 1y It | e ¢ @ R
(2) 3 A’ ot T | gfs W T B
(3) ST I »

(4) SR § § F3 T

Coexistence of modern and traditional economic structure is called
(1) mixed economy (2) growth paradox

(3) economic dualism (4) none of these

AYH T R AE < B ge i B e o

(1) A oref agen (2) gfs fadrammg

(3) e e (4 T & B8 T

In Rostow’s theory of developmerit, different stages relate to
(1) population size : L=
(2) rate of growth of population | i
(3) composition of national income

(4) all of the above

ferm & Ut & T ®, RE s wﬁm %

(1) SHe % &R

(2) SVEE # ghe & |

() TS g F G g

(4) SUE | A

PG-EE-2013 (Economics) Code-A
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Question ST
No. Questions
10. | Theory of vicious cycle of poverty is

(1) ‘primarily an explanation of why countries are poor
(2) primarily an explanation _ofwhy individuals are poor
(3) primarily a strategy of poverty removal

4) none of the above

i 3 gy w e R
| @) s w1 @ 72 e & 30 & W@

(2) it = @ ©F A 6 A F@ e 8
(3) e &7 T geN Pl T TR @
(4) IWRE ¥ § 3 T

11. | In an under developed country most abundant resource is
(1) : ‘modern technology (2) underutilised capital
(3) savings : (4) none of these .
o oied R 30§ T aga HEe @
(1) emyFrE SEnfe (2) o AT ToH
® T @ FAADE T
12. | Per capita income as a measure of development is inadequate because

(1) itignores distributional aspects

(2) itignores sustainability aspects

(3) it ignores and focuses on means’’

(4) all of the above
W%m%wﬁﬁaﬁrmm%mﬁﬁs

(1) 7% Rl TEgel @ S FT &

@) 78 G vegel @ IUeT & 8

(3) %Wﬂﬁaﬁmm%mmﬁww%m%

@ v

PG-EE-2013 (Economics) Code-A
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Question ' g
No. Questions

13. | In times of inflationary pressure, who will be most adversely affectl:e'd

(1) Businessmen . . (2) Government

(3) Pensioners (4) All will be.equally affected
T &9 & @ 7, §98 g8 WE BN wnaa @

1) =l @) @R

3 (4) w9 T & ¥ i A

14. | Fiscal policy deals with
(1) Rate of interest charged by banks
(2) Income policy of the government
3) Exper_}diture policy of the government
(4) Both income and expenditure policy of the government
(1) ¥ a7 T W AT F W F G
() FER # @ A > T "
(3 &R N 7 Hifq $ ">
(4) TR H A T FG qE AE S g

15. | Decrease in autonomous consumption will shift IS curve

(1) up : (2) will have no effect
(8) can not say (4) down .

w@EE I9Er J IS @ g :

1) IK 2) #E uwg & B
() % T & @ = g

16. | Periods of increasing prices will lead to
(1) increase in employment (2) decrease inemployment

(8) decrease in exports (4) all of the above are possible
Tod BT g I ot & s ._ -

(1) IR F gRe @ X @) I F 4 B AR

(3) fralg & &t & o (4) ITF @t w@E

PG-EE-2013 (Economics) Code-A
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" Question :
No. Questions
17.

Unit of measurement of MPC is

(1) Utils :

(2) Rupees

(3) A pure number without any unit
(4) None of the above

MPC & A %t 3% ©

(1) Utils

(2) s

(3) R R o & o gw e

(@) IR § & P T

18.

Higher levels of income tax for the rich will most likely lead to
(1) decrease in consumption of food

(2) lower enrolement in schools

3) decrease in demand for five star hotels

(4) lower expenditure on health

IRt B T TET & See WX HEaa: & e

(1) @@ & ST & F # AR

@) Rt ¥ =R o # A

3) mmaﬁ%mmﬁﬂaﬁeﬂr

(4) w@eH W AR o[ H# A -

19.

Change in aggregate consumptmn per umt of change in disposable income
is called : , P

(1) increasein demand e
(2) decrease in demand
(3) income shift

(4) marginal propensity to consume

mmmﬁmﬂq%nﬁsﬁﬁaﬂ%mwiwﬁaﬁ?ﬂm%
(1) =T H s (2) =i F F
(3) oM TEE (4) I 3 Wt s

-

PG—EE—2013 (Economics) Code-A
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Question
No.

Questions

20.

| domestic produét (NDP), disposable income (DI) at current prices,

Assuming that overtime prices have been falling arrange following in

descending order of magnitude : Gross domestic product (GDP), Net

disposable income (DI) at constant prices ;

(1) GDP, NDP, DI at constant prices, DI at current prices

(2) GDP, NDP, DI at current prices, DI at constant prices

(3) NDP, GDP, DI at current prices, DI at constant prices

(4) None of the ai;ove ' |

T8 A0 g0 6 0% w1 % AR W 9T @ ¥, FreRed @ OREm @ e g e d
FaRYT FIOY : FFA Bl SR (GDP), & =g AR (NDP), aduM &t | 24
g JE (DI), R 93 | &3 379 s (D)

(1) GDP, NDP, feRr 5wl W DI, &M 5wt W DI
(2) GDP, NDP, g g4 W DI, ReR 5wdf @ DI
(3) NDP, GDPWWWDIWWWDI
(4) I F q FE T

21.

With increasing awareness of harmful consequences of environmental
pollution, cetris paribus, share prices of luxurg cars will

(1) decrease : (2) increase L ¥

(3) can go in either di.rection () none of these
qqiamgw%aﬁmqﬁwaamgmwm R o i g
ferereIeRReT B & ST g

(1) == @ =

B RFHARTITERE @ 4 I &

PG-EE-2013 (Economlcs) Code-A
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[Question 3
No.. | Que_stmne
" 22, | Major contribution of Keynes that distinguishes him from his pre-decessors

 is his theory of

(1) interest rate distribution

(2) taxation '

(3) price ,

(4) equilibrium at less than full employment levels
%ﬁwug@awﬁﬁsa%aﬂ%géqﬁﬁﬁmw% I R 8
(1) =& R f@a

(2) =uEE

@ T

@) T TR T ﬁ T T

23.

In IS-LM framework dlagram shows ethbnum levels of
(1) Income ard employment

(2) Employment and rate of interest

(3)- Inflation and rate of interest

(4) rate of interest and income

Iswmﬁﬁﬂﬁwﬁamﬁwmﬁﬁﬁ@m%
(1) AT T AT ($) ﬂwwwaﬁﬂ
3) gmvﬁﬁramwﬁﬂ (4)6&1@[?#13{3%11@1111

24.

Normal or usual aggregate consumption curve will cut Y’ axis at

(1) origin (2), at positive value

(3) atnegative value R (4))-‘ any of the above
SRR AT SR SR ST aF Y ST H WX HRM
Q) & © (2) =TS HH W

(8) FHHE AM W ' (4) IE H q HE A

PG-EE-2013 (Economics) Code-A
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estion R
No. Questions
25. | Which of the following is a transfer payment

(1) Wages of workers

(2) Interest on bank deposits

(3) Rent of a building

(4) None of the above

Frfofea & & @i-ar siaer g & 7
(1) =it H Fogh '
(2) 9% T W =W

(3) el sET @ fevmn

26.

(4) STF 7 @ S

Disguised unemployment is more likely to occur in
(1) market economy (2) developed countries

"(3)  under developed economy (4) none of the above

-

gl g8 W & o 89 & gwEr 2
(1) SOR e § (2) Fria 9 &
() I Ehm sd-zmert ¥ (@) S § ¥ 98 9

27.

Capital formation is a process of
(1) generation of saving
(2) construction of buildings

(3) deposit of savings in banks S
(4) creation of additional production capacity""' "
ot frmior oo wier B

(1) 99 # FEer =

(2) st & fmer

@) 6 ¥ et B oW A
(4) SfaRe IR &war & fFEf

PG-EE-2013 (Economics) Code-A
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Q“;ff‘m Questions
28. | ‘Development is the best contraceptive’ implies
" | (1) With development more effective contraceptives become available
(2) To central population growth, contraceptives are not needed |
(8) With economic development, rate of growth of population will come
down in due course
(4) None of the above
(1) R 3 oy afis TaEae uE Iuae o ¥
@) e gie e & R suEl @ o T ¥
(3) it fawm & am, w%mmﬂg@a&aﬁ%m
(4) I § § 3 T
29. | Lewis model of development was based on
(1) surplus labour in traditional sector
(2) wurban unemployment
(3) both of the above
(4) none of the above
R &1 ggq disw onuiRa o1
(1) TR &9 7 AR o W
@ R/FWw
(3 I3
~ 80. | InSouth-East Asia, highest rankipg in teri:n:of human development index

is generally achieved by

(1) India (2) ~Sri Lanka

(3) China (4) None of these :

gl oRmr & A Rer gewie. @ @ § e o @ oara R @
(1) 9Ra 9 ) i @@ A

(3) 9 3 @) ¥ q 35 T

PG—EE—2013 (Economms) Code-A
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RQuestion
No.

Questions

31.

Hurﬁan Development Index takes into account

(1) gender inequality (2) regional inequality
(3) generational inequality (4) ndne of the abové
(1) o srEmE & (2) ¥ FEHET B
@) M SR B (4) SN § @ 9 &

- 32.

Which of the following is not an argument in support of balanoéd growth
theory

(1) to make full use of economies of scale and specialisation
(2) different sectors of the economy are interlinked

(3) to avoid inter-sectoral bottlenecks

(4) none of the above
ﬁw%ﬁaaﬁ%ﬁa—wagﬁmgﬁﬁﬁim%mﬁqﬁwa%aﬁ%
(1) ¥ & wwdt q PR @ gt e w

(2) AE-HTA B FTT-SAT 4 A F 2 ¥

(3) Sf-8=% Jrel § U

(49 S F q P T

33.

According to Lewis, supply of labour at exmtxgg .wage rate to industrial

sector is A | 4
(1) completely inelastic (2) positive

3) negati\fq | 4) coiﬁiiletel{ eia‘stic

W & AFAR, A 855 H a9TT TEh W W 99 @ gRf B
(1) i s (2) e

(3) HIH (4) T dresha

PG-EE-2013 (Economics) Code-A
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;ﬁim’ . ' Questions | |
.?._4.- "Agriéult{ire is the dominant sector of Indian economy because it has highest
sharein - :
(1) National income' (2) Employment
(38) Both of the above (4) None of the above -
mmwmwwmm%mmwm%
(1) g oem F 2) GFmF '
(3) Syl A & (4) T 3 3¢
35. | After i.n;iependence, per capita avaﬂabi]ity of pulses in India has
| @ iﬂ,creésed , (2) decreased
(38) remained stationary (4) none of these
| T % 9vE, RA J AR S S SRk Suwe
(@ =@ R 2 @8
@ fRRW@E (4)s=ﬁ@aa§=r€r
36. | Decline in rate of inflation means

(1) Prices are declining

(2) Prices are increasing at slower fate‘
(3) Both of the above G
@ INqne of the above - e J;
TR & &€ Prae a7 o ¥

(1) #vef PR & ¥ e

@ WM IR RE

(3) ST At

(4) ST # § B T8

PG-EE-2013 (Economics) Code-A

(12)




Code-A

Question
No.

Questions

37.

Which of the following is not true of Indian agriculture development

(1) it is concentrated on few crops

(2) it is focussed on few regions

(3) it is not export oriented

(4) it has seen balanced growth

g N fawE & fm e ¥ § B od 98 R

(1) 7% 3B &6l Wasd 8 (2) 98 3B 4l W aisa &
(8) 7 fraa st & ? (4) 387 |y ghs ¥ ®

38.

As compared to developed countries, generally India has
(1) lower levels of open unemployment

(2) higher level of disguised unemployment

(8) both of the above

(4) none of the above

foepftr 3 @ ger &, TRa B T ¥

(1) Gl IR FFAR W

(2) BR SSFTY # = &R

(3) IW Al

4) IRF T § L T

39.

India has been cited as mixed economy because it has
(1) mix of agriculture and industrial sectors

(2) produces for exports as well as domestic ifaiket
(3) flourishing public sector as well as privaté si;ctor

(4) none of the above

wﬁﬁ%aﬁw%mﬁwﬁhﬁﬁrw%mmw%

(1) N o ofenfie &=t &1 Pvsor

(2) ald & To-6 =Y 99K $ Y SaE
(3) Wid-GEd HEWE &5 & r-ar el due
(4) SWE F | F5 T

PG-EE-2013 (Economics) Code-A
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Question

- Questions

40.

Since 1990’s economic policy in India has been characterised by '

(1) reduced role of public sector

(2) increased role of multinational corporations
(3) both of the above

(4) only (2) above

1990's & W & oniE Ry Rffega

(1) e a # 94 g S

@) u T e @ A g i awe

(3) SR &FI &R

(4) Faq I (2) &

41.

If two trains start moving in perpendicular d1rect10ns at speed of
50 and 60 kilometers per hour respectively. After one hour trains will be
at a linear distance of

(1) 110 km ; (2) more than80 km

(8) lessthan 80 km (4) none of these

afy & 3 Traq Rnedt § T 50 o1 60 BEH. qﬁmaﬁwﬁf%maﬁm@?m
¥ ug R UgE 3 FH Y HF X g0 9 e

(1) 110 & (2) 80 Pl | i -

(3) 80 & &1 (4) =78 q FE T

42.

If in a game of 3 blue balls, 5 red balls and 2 white balls, probability of

3 ; s :
winning is 7 what is the probability of loosing
gy ki L @ L (@ Noneofthese
D 1o 10 Sl i T s

L
o

qﬁswmsmﬁmzﬁzﬁ%m@aﬂsﬂﬁa&m%%,sﬁef
2 mifear 4T B

(1) % @ % ®) —1- @ THIMTE

PG—EE——2013 (Economics) Code—A
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sti .
“I‘:Io.on Questions
43. | If width is doubled and length is reduced by %rd, then the area of rectanged
will
() itdent ¢ %rd (2 decrease by %rd
(3) doubled (4) none of these .
' : 1
3R =eE A R o ¥ qun eeE @ 3rd & FH R S B, a9 o
6)) %rdﬁ CELi 2) %rd% e
(3) R/ T & (@) T FE
44. . If government spends more than its current revenue income, it will lead
to :
(1) increase in employment (2) inflation
(3) both of these (4) none of these
e THR ST G T A q s g B B, T8 A S
(1) U F gis & A% (2) FERSINT & AR
(3) ¥ 4§ dFi (4) 79 & i3 &
45. | Increase in margmal propensity to import w1}1

(1) increase the value of multiplier { ‘,{;-
(2) have no effect on multiplier e
(8) same effect as that of increase in MPC _
(4) npne of the above A

AR % e g sgfa 7§ afe s

(1) &% % 99 7 gfa

(2) T W g THET &l S

(3) MPC ¥ gig @ atE a9 y9d

(4) SWE F § Fi3 T

PG-EE-2018 (Economics) Code-A
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Quﬁsotfon e _ Questions

46. | Critical minimum effort thesis and big push theory of development are
(1) similar to each other (2) contradict each other
(3) unrelated (4) none of these
IS AT qE iR o R e e Riar
1) % TR F TH 2) T g 3 e
(3) rHsifET @ T3 Eﬁs‘ Tt

47. | For medernisation of economy, agriculture is a source of
(1) investible surplus (2) labour
(3) both of these (4) none of these
a4 I 3 YRFECT B R, FY o g 2
(1) fas 9rg onfyeg (2) =m
(8) 7 @ M (@) FH 9 5 7

48. | Development trajectory of an economy is a function of

(1) rate of capital formation (2) choice of technique

(3) both of the above (4) none of the abave
T o e # feE whv-ug o ad T

(1) Uit Fmfer @ ax @ (2) TH® B TAT F
(3) SWIR A & (4)Gqﬁz|ﬁff%2ﬁ3‘ﬂ?ﬁ

49. | Which of the following economists is not knoWn for his/her contribution to
development economics

(1) Amartya Sen (2> Nurkse -

(3) Marshal (4) Todaro
ﬁwﬁﬁﬂ#—maé&mﬁmwﬁwa@wﬁ%ﬂ%maﬁww%
(1) o 89 ©2) Ta

(3) wsfe 4) Fery

PG-EE-2013 (Economics) Code-A
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Question

No. . Questions
50. | If three countries grow at equal rate, then after 10 years
(1) these will be equally developed
(2) need not be equally developed
(3) will be equally developed only if these countries were at the same
level of development

4) none of the above
R &9 39 g9 W W e Fa §, @ 10 &Y gyE
(1) 3% 999 &9 9 fasia e
(2) T &Y § faR BN &t TasgE e U
®) wméﬁwaﬁimaﬁw%ﬂméwwwa
@) TE F {9 T

- 51. | In mid-sixties, for some years India 'observed plan holiday. It was because

3 Df A
(1) drought @) floods
(8) political instability '(4) none of the above
g % & He §, B 99 & o 9Ra | e AgH 5 38 e & g ger
1) @ @ i
@) W afgwr (@) SR & § 9 T

52. | Estimates of poverty in India are dirived on the basis of

(1) Economic Census

(2) Population Census f i

(8) Door to Door survey by the State Government

(4) Sample survey by Central Government - .

qRa & P 3 e @ P 3 SR TR e R o B
(1) onfdies SO

(2) SFEEAT ST

(3) T HWPR BRI °{-93 Haa

(4) P WEHR G TN T

PG-EE-2013 (Economics) Code-A
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(1) 1.9993+0.0012+ 3 (1.999)% (0.001) + 3 (1.999) (0.001)?
23 :

2 > +17-9 - P

(4) All of the above

(1.999 +0.001) = ? e

(1) 1.999%+0.001%+ 3 (1.999)2 tOEOOI) +3(1.999) (0.001)?

5

) 2f—,+17-9

@) I

;it,ion Questi'ons
53. | Arrange following in increasing order: 0.1, 0.02, 0.009, 0.0095
1 0..009, 0.0095, 0.02, 0.1 (2) 0.0095, 0.009, 0.02,0.1
(3) 0.1,0.02,0.009, 0.0095 (4) none of the above
o @1 agd g7 %7 § srafem #iftm @ 0.1, 0.02, 0.009, 0.0095
(1), 0.009, 0.0095, 0.02, 0.1 (2) 0.0095,0.009,0.02, 0.1 .
(3 0.1,0.02,0.009,0.0095 (4) STE & & B &
54. | (1-0.1) 1+ 0.1)=?
1) 202 (2) 1-0.1+0.1- (0.1x1)
(3) 0.99 (4) none of these
(1-0.1) 1+0.1)=?
{1):2.02 ' (2) 1-0.1+0.1-(0.1x1)
(3) 0.99 4) T § 13 7
85. | (1.999 +0.001)3=? .

PG-EE-2013 (Economics) Code-A
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[Question
No.

Questions

56.

Maximum data dispersion is given by

(1) Variance (2) Standard deviation
(3) - Range (4) None of these
AMYFTH T T Ry oy B

1) Remam () 7 Rz

(©) W 4) T F 9

57.

‘Statement : Some rats are birds. All the birds like mangoes

'Conch;sion I: All birds are rats

Conclusion II : Some rats like mangoes

From the given statement |

(1) Only conclusion I follows (2) Only conclusion II follows
(3) Both conclusions follows (4) Neither conclusion follows
FYT: FB e &R & | Wl ol B o gwe 2

Freps I: &t oot o2 &

Frepd 11 : %8 92 o wer a2 ¥

T T e F -
(1) %aw e 1 srgafia o 2 (2) Paa Feps 11 : ergafia & @
(@) I e ergafa 29 & (4) <&t Frepd sfa w4 dar

58.

In the evening, after office hours a person walks towards sun, then turns
to his left, then to his right and then right agdin. Finally he turns left and

directly faces his house. His house faces | 4
(1) North (2) South
(3) East (4) West ~

1) TRH R @) T % ai
@) w @ ax (4) wRem # ar

PG-EE-2013 (Economics) Code-A
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Question - Questions
No.
59. | Statement : All women are married. Some women are doctors

Conclusion I : Some married women are not doctors
Conclusion II : All women doctors are not married

From the given statement

(1) Both conclusions follow  (2) Only conclusion I follows
(3) Only conclusion II follows (4) Neithei' conclusion follows
HI : T AR Raifea T | gp A R ¥

frrepd 1.: % Raifeq aftard fafdes & &)

Frepd 11 : &t wfeen Fafers Ratea =8 ¥

Re mq %o & _ _

(1) 3 Frepd orgefa & & (2) Faa frepd 1 orgaRa & @
(3) Faw frepd 1T orgela A1 8 (4) %% 0t Pt orgaRa 7 &

- 60.

Relationship between mango, fruits, rice and curd is best represented by

DO e (T

B @S

T, B, A T 38 B e dee wed or ave PreRg a

» Q000 #'QD OO

Y . GO
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~ Ruestion .
No. Questions
61. | With all the money in her pocket, a woman can buy either 40 apples or

30 oranges. If she decides to buy 14 apples as well as save 15% of total
money, how many oranges can she buy

(1) 14 @) 15

3 16 (4) none of these

St 3 3 3 08 8, o o a1 40 39 o 30 vk et By AR o 14 3 e
T WY & WY g9 09 & 15% g @1 Frof 3t 3, @ 9@ R et wled =i

1) 14 @ 15
(3) 16 4) T8 @ =g &

62. | Generally which Indian state is ranked highest in terms of human
development index
(1) Haryana  (2) Gujarat
(3) Maharashtra (4) Kerala
HIETCT: 358 ARG 59 Ft 91 Reor i 3 0o § gesam Ao 97 qmy oy
(1) sfEon’ (2) T
@) werrs j' (4) Fw

- 63. | Proportion of GDP spent on education in India is

1) 6% _ (2) lessthan 1%
(3) more than 6% (4) none of these
I & R O @ R T GDP i st @ |
1) 6% @ 1%3s ¢
©G) 6% ¥ o @ A o

64. | For a decade after mid nintees, employp:l_gnt in.organised sector in India
(1) increased rapidly (2) remained stable

(3) declined through out (4) declined and recovered
T F W B 7 S R, T & ged & § IR
(1) &R 2 e 2) R

(3) TR e @ (4) "o 3R gaw
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Q“I‘:Iﬁi"" Questions

65. | In recent past, centrel budget has been characterised by
(1) high borrowings (2) surplus :
(3) deficit _ (4) both (1) and (3)
o & &, S awre Pre & et o B
1) s= =T @) s

- (3). == et @ Q) T (3) 3

66. | If arithmetic mean of a,b,c and d is e and sum of ﬁrét two terms is f, then
the fourth term is equal to
(1) &t o @ (de—)2
(8) itis not possible to find it (4) none of these _
% a,b,c F&1 d F R A e ¥ T w7 A & B A £ 2, a9 Ay @ WA B
(1) e-f (2) (4e-£)/2
(3) 38 =G FTA WY 7. (4) 9 | 35 78

67. | 23+ 7.7(B+(7x3))+4)=?

(1) 16

(2) it is not possible to find it

(3) 485

(4) none of these | i ‘,-;';
2.3+ 7.7((B+(7x3)+4)=7

(1) 16 vida

| @ = 5@ o g @ 2

@) 485
@) ¥ B
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Question - RIS
No. | Questions =
68. | Standard deviation of age distribution of boys in a classis 1.75 and that of

girls i is 2.0. It means

(1) Girls have higher average
(2) Girls have more varied age

(3) Average age of girls is 0.25 more than that of boys

.(4) None of the above

Mwﬁmﬁﬁmﬁmﬁmhﬂm1.75%'wa3ﬁaﬁfasr2.0%|mw%
(1) whe o olea o & _

(2) =il it oy ¥ wumer R &

3 agﬁs&faﬁeﬁmea@agaﬁa?raamO%m%

@) s ¥ § B

69.

If price of a commodity increases by 20%, then by what proportion should
a consumer reduce her consumption of this commodity to keep her

expendlture on this commodity constant

(1) 20%

(2) about 17%
(3) not possible to find out with the given informatjon

(4) none of these ¢

aﬁ@a@wa\ﬂm%wm% a‘r@wﬁwﬁsﬂa@wm@émmﬁ%m
(1) 20% :

(2) TET17%

(3) @ B =T & 5 F w7 T

@) T @ 28 T
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Question| - :
Ne. Questions
70. | If a box has coins of Rs. 1, 2 and 5 only, and total number of coins is 100.

Moreover, there are at least two coins of each denomination in the box.
Therefore. '

(1) Mammum amount of money in box can be Rs. 486

(2) Minimum amount of money in box can not be less than Rs. 110
(3) Both of the above

(4) None of the above

IR O TR A FEw 1, 299 5 5. % e § aw g Ryt o de 100%153%&'«13{::@%
T3 8 % 2 R B A

(1) =88 7 g7 9 sHftam TRr 486 5. |

@) R F o @ = 110 5. & 7 2w R
@) S '

(4) ST® { § B 7

5 g

Arrange wheat, cereals and food in such an order that the absolute value
of their price elasticity of demand decreases

(1) wheat, cereals, food

(2) food, cereals, wheat

(3) cereals wheat, food : ¢ 4
(4) cereals, food, wheat .

.ﬁgmmmﬁaﬁ&%mﬁmﬁm#ﬁm%m“ﬁ@@aﬂwmmm

(1) ¥, s, @
(2) @, e, A
(3) oW, A, @
(4) o, @,

PG-EE-2013 (Economics) Code-A

(24)




Code-A

“ﬁsf"" "Questi_ons'

Tt E marginal utility of x was increasing through out rather than dmumshmg
as is usually assumed, then consumer will consume
(1) onlyy (2) both x and y but more of x
(3) cannot say (4) only x if she consumes x at all
ﬁxﬁmmﬁmwﬁ%ﬁmﬁsm:mw%%wmwﬁaﬁm
ST BT _ '
1) Fxy @) x a9y I Wy s x
(3) & T wr (4) %xqﬁ@xwmm%

73. | Which of the following does not represent demand curve of a normal gaod.

! (1) P =380-D, (2) D =87- 0.5P,

) i = 83;5 (4) None of the above
ﬁwﬁf@aﬁé%mwwa@%wwmﬂﬁﬁfﬁaﬂﬁm
(1) P,=30-D_ ) D =87 -0.5P_
@ B= @ v 7 3 9 7

74. | Under economic resource labour’ which one of the following is not included
(1) Banker :
(2) ‘Machine operator _ ] e{f
(3) Manual worker '

: 4) None of the above - l
~mﬁ$ﬂmET%ﬂ”%ﬂﬁﬁﬁmﬁﬂmfiﬁ%ﬁ?ﬂ@ﬁﬁﬁﬁﬁ%
(1) (2) =80 s
(3) ugem s 4) SHR &/ HE T
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Q“l‘:ﬁf"” Questions
75. | Which one of the following is not a ‘firm’
(1) Bank - (2) Cobbler shop
(8) Car manufacturer (4) None of the above
Praffed & @ B9 @ 0% 9 T L
1) ¥ ' @) A B g
(3) & fmfa (4) W A | B "
76. | If income of a consumer increases, then for a normal good
(1) quantity demanded will increase
(2) demand will increase '
(38) both of the above
'(4) none of the above
af% T SUHIET B TF el 8, W A @ R
(1) = R @) = a
(3) TWIE A (4) I F / B T
77. | Which of the following is a cardinal measure ?

(1) Length of a field in meters

(2) Ranksin class test

(3) Roll numbers of students P
(4) none of the ab;)ve . i
Freifofes & & -81 5@ AT 7
(1) e @ o e § o
(2) e TE | A

(3): feenfigl & srgemi

- .

| (4) s & & 3§ T
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No.

Question

Questions

78.

If price of one commodity increases by 10% and that of another decreases
by 10%. Prices of other commodities remain constant and money income

also remains constant, then real income will

(1) remain contant (2) increase :

(3) decrease ; (4) all of the above are possiBle

f T awg B Ted 10% Sear & aa1 gak &1 10% oo § | §E awgel & 9w ad g o
Rex. &l 8, 9 arias o

(1) fRex @ (2) =& |

@ = (4) e W o B

79,

Division of State’s resources between state and Panchayati Raj institutions

is usually decided by

* | (1) Planning Commission (2) Finance Commission

| (8) Central government (4) State government

TG B HEEAT B qgT dEdl o gerelt & d1g sEar qr: Feitd e @
(1) S ST & (2) o et g
3) W-wm : ) T FEH AT

80.

: T
Largest share of national income in India comes from

1) Priméfy sector (2) ;Secondary sector
(3) Tertiary sector (4) Export sector
aRa ¥ UK S F gEsad R o @

(1) st &5 9 (2) facis &5 A

@) Briws & d (4) Prafe & @
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Questions
Share of labour employed in orgamsed sector in India is about ........ of
total labour employed.
1) 80% (2) 50%
3) 25% 4) 10% i
wﬁﬂwﬁa%ﬁﬁﬂﬁawwaﬂ@ﬁﬂﬁamww..-..-f.."-.%|_ 3
1) 80% | @) 50%
(3) 25% 4) 10%
82. | India foilows _
-(1)_ Fixed exchange rate ‘ (2) Complete convertibility
I(3)' Partial convertibility = (4) None of these
1) fer R = @ 2) g wRadaa w
(3) i Rackfeom &1 () @ @ B
83. | Objective of creation of spcial economic zones was to

(1) give boost to exports
(2) give boost to imports

3) to increase employment

T,

i} ;f
(4) toincrease net foreign exchange earnings

ﬁﬁwaﬁ%aﬁ%ﬁﬁquaﬁmm S
(1) Fafa & sg@r 3 :

(2) AR H FGE@T 3

(3) TR T

@ g% PR RfmE 9@ @ T 3 R

rp
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Question ;
No. Questlons
84. | Which of the following is , not true for Mahatma Gandhi National Rural

Employment Gurantee Act ?

(1) Gurantees 100 days of employment per family
(2) Gurantees 100 days of employment per persion
(8) Payment is based on ‘piece rate’ system

(4) Useof heavy machinery 1s not allowed

S Tt T AT AT T s S R Rt & @ e e 8
(1) HfF 9RER 100 BT A 2 TS 3y &
(2) 9fr = 100 R A5 ot et e B
() FHE 9 e IR Wiy
@) 9 #eiied 1 SwEnT ’lea w6t 2

‘De-industrialisation’ is a term associated with

85.
(1) First three plans (2) Fourth to eighth plan
(3) British India (4) MughalIndia
Ta SErfieter gg defig &
Q) T A AT w2 9ef  aed deer
(3) fafesr W (4) g7 T
86. | In a square room 6 feet long, how many maps of two feet width and length

I 3;

1.5 times the width can be placed ?

(1) 6 T (2):18
@) 8 (4) " None of these

W 6 P @ qiEw FR & a%%wﬁéﬁlswmﬁmm
e o1 Tl ¥ ?

(1) 6 @2 12
3 8 (4) 379 9 F3 &
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Questions
87. | Square root of 5 is closest to
(D 8 2 2 @) 23 )22
5 %1 g Feeay & o
1) 3% 2 23 3) 2.3% 4 223
88. | If a treasure is divided between A, B and C in such a way that B gets %
of what A gets and C gets half of what B gets, then
(1) A gets half of treasure (2) B gets %th of treasure
(3) C gets %th of treasure  (4) None of the above
R A,B @1 C %.aﬁaﬁ?@wwwﬁﬁmﬁm%ﬁmﬁAaﬂ % fieren & e
C#H B o e 3, @ : |
(1) A% T F o P @ (2) B @ @ o B ¥
oo
@) CHEM#H - e (4 0w 7 #K T
89. | In economics, very long run means 3
(1) a_period of at least 10 years j ,f'-?;'
(2) time period after 10 years :
(3) time period after 20 years )« :
4) . None of the above
ST H, 9gq &Y oAty @ o9 3
(1) A F9 109 & @ (2) 1039 & & H THIEN
(8) 207 & IR H TR (4) SWE A § B T
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Question
il Questions
90. | By ‘normal’ goods, we mean

(1) goods used by normal persons

(2) goods which normally all people use

(8) Whose demand decreases with increase in p.rices
(4) Whose demand increases Witi:l increase in income
WEA qEgA §, TR A

(I) WM ST & ST ) o el g

(2) T S GERew: gt A ouE =y ¥

3) Freenl = 0 # afg & g gedy 2

(4) Rt 7 oma F o 3 o wad 3

91.

In short run; a firm can make losses and yet continue to produce

(1) True

(2 True only under some market structures

(3) False

(4) Cannot say ey
TG A, O B T e S AR aed &
1) g S ate
(2) BB IR G 3 R T '

3 oET

(4) ' & gHa
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Rﬂﬁstf‘m Questions

92. | By realT.incom'e we mean
(1) Income after reducing taxes
(2) Salary plus bribes collected minus taxes
(3) Both of the above
(4) None of the above
IRfeE  FE q BN AP @
(1) F W & 97 Y
(2) T G a9 U1 THeE Read
(3) WK &I :
(4) W A & 3

93. | Which of the following cost curves can never have ‘U’ shape 9
(1) Total fixed cost (2) Total cost curve
(3) Average fixed cost (4) All of the above
frefoiad & @ f5a @Fm 9 &1 o U SR & F0 e @ a7
(1) @ e 2) % W T
(3) &fed Re @F @) s T

94. | In case of perfectly competitive factof as well as produét'_niarkets, with

I

increase in MSP,, wage rate will

1) increase (2 decréasé

(3) remain constant (AI) All of the above are poésible

of gRAT W & T SaE S9R $ A §, MSP, @ 9ea 3 6, Al &
(1) @ =

@) fex @ (4) S @ft §v9 B
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Questions

95.

In an oligopolistic market, key characteristic‘it

(1) product homogenity (2) recognition of interdependence
(3) both of the above (4) none of the above

e SR ¥, ger Rk §

(1) IR T (2) S #t veuE

(3) IRF I (4) ST § & P T

96.

If average cost is rising, then marginal cost

(1) 1isrising at a faster rate (2) 1isrising at slower rate

(3) may be falling - (4) all of the above are possible
R slwa o s <@ ¥, qw dwia w

(1) R T @ TG @ B @ dfi AT @2

98.

B A TETRE G A (4) SR ot gug

97. | When we use term ‘profit’, it means

| (1) Normal profit (2) Supernormal profit

(3) Both of the above (4) None of the above
T & W U F I A L, s avmg
(1) 9wrg @ (2) sftram a9
(3) ITF I (4) SOF F q Fi &
Higher the slope of a traditionally drawn demand curve, absoulute value

of price elasticity of demand will be
(1) lower (2) higher ;
(3) nothing can be said (4) none ff the above

TR &9 § S T AT 6 F @ R e &, 5 @ 9 e w5 0 a
B

(1) = (2) =R
(3 %B For T o gH (4) SR & ¥ i

j 1’?’
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Questio
No.

Questions

99.

Marginai Revenue (MR) and marginal Revenue product'(MRP)

(1) mean the same

(2) mean the same under some conditions

(3) mean different things' -'

(4) may mean same OF different things 'dependihg on market structures
Swig o (MR) @ @i e s (MRP)

(1) @ SFEE & T ¢

@) zﬁl@ﬂﬁf%méﬁaﬁmm%

@) e gl | A (4 |

@) wmamwwﬁmmﬁrﬁtm%

100.

Which of the following is not treated as ‘Production’ in modern ecomomics?

(1) Teaching in a Government School

(2) Banking

(3) Defence Services

(4) None of the above _
a@m'ﬂ%ﬁﬁﬁﬁ‘m’%mﬁaﬁhw?

(1) ae R § e

@) R

(3) T qan

@) I § A FE T s
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